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QUESTION 1

What does VSD stand for?

A. Virtualized Services Description

B. Virtualized Services Definition

C. Virtualized Services Domain

D. Virtualized Services Directory
Correct Answer: D

Nuage Virtual Service Directory (VSD)

Reference: https://matscloud.blogspot.com/2017/06/nuage-networks-vsp-deep-dive.html

QUESTION 2

What statement regarding the VRS-G is FALSE?

A. The VRS-G is the software VXLAN/VLAN gateway of the Nuage VCS solution.

B. The VRS-G is deployed on a hypervisor, following the same deployment requirements as a regular VRS.

C. Virtual machines created on the hypervisor are attached to access ports on VRS-G.

D. The network ports on VRS-G point towards the Nuage overlay VXLAN network.

Correct Answer: B

This permits the bridging of the hypervisor-focused overlay networking and physical devices in the data center.

Reference: https://jujucharms.com/nuage-vrsg/

QUESTION 3
What impact does server virtualization have on a traditional datacenter network?

A. Traffic between the virtual machines must be carried in the overlay network, which is not supported by a traditional
datacenter network.

B. Server virtualization requires a hardware upgrade of the network devices (for example, TOR/EOR switch, leaf and
spine routers) in a traditional datacenter network.

C. Server virtualization requires a software upgrade of the network devices (for example, TOR/EOR switch, leaf and
spine routers) in a traditional datacenter network.

D. Traditional network configuration involves manual interaction, which cannot keep up with the dynamic reallocation of
compute resources to virtual machines.
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Correct Answer: C

QUESTION 4

Which of the following interfaces does NOT belong to the underlay network?
A. Interface on VSD

B. “Control” interface on VSC

C. Openflow interface on VSC

D. Hypervisor interfaces carrying VXLAN traffic.

Correct Answer: B

QUESTION 5

For a packet transmitted using VXLAN encapsulation, where is the VXLAN header within the packet?
A. Itis part of the Layer 2 Ethernet header, just like VLAN.

B. It is added between the Layer 2 header and the Layer 3 IP header.

C. It is added between the Layer 3 IP header and the TCP/UDP transport layer header.

D. It is added between the UDP header and the payload.

Correct Answer: C

Reference: https://openct.net/wp-content/uploads/OpenCT-BaaT-Technical-Documentation-2020.pdf
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